N = 0 &8 AF S & Al A
2000 &= =20l & LEgH|
AN DN
Mz NAZENLZTA(2ELX LN /XS L Al
el AEATIT A EX (sl &e)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
rag==pL k=g 83,298,000 81,756,440 1,541,560
= 500,000
iy 76,817,000
= 5,981,000
NERENLFRN(ZEL RGN /X EL T Al) 80,080,040 78,876,980 1,203,060
= 500,000
rag 76,317,000
== 3,263,040
MERATAXSAISE FX 30,312,720 30,311,220 1,500
g 30,300,000
= 12,720
AMESAISEHIINAIR A 2H 2,000 2,000 0
201 2et2Ad| 2,000 2,000 0
01 AtR22ld| 2,000 2,000 0
ONEHAANLEBIIAAIR RS =S L I 2,000
MESATHEXNAIESH A 10,720 9,220 1,500
202 O4Hl 5,720 6,720 A 1,000
01 =ZWoib] 5,720 6,720 A 1,000
EES P EE 5,720
203 ERF=ZH| 5,000 2,500 2,500
03 AIMF=XYERF=EH| 5,000 2,500 2,500
ERECOEPEIEEESS 5,000
AMESEXS XN AAS 30,300,000 30,300,000 0
e 30,300,000
308 AXIEHXMSOIA 16,878,000 12,120,000 4,758,000
rag 16,878,000
01 XXNHHBIAEXZ 16,878,000 12,120,000 4,758,000
O XS X3 A 16,878,000
rag 16,878,000
403 XXM SKE0lH 13,422,000 18,180,000 N4,758,000
rag 13,422,000
01 XXSHA=2EX 13,422,000 18, 180,000 A4,758,000
OassEa X9 X3 A 13,422,000
rag 13,422,000
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Mz NADENLZTR(2ELX LN/ XNSL Al
o9 NYACSSHAREE CRRE]
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
NEAESSHAIEZ=A 11,968,720 10,562,220 1,406,500
g 8,850,000
= 3,118,720
NEACSSHAILHEAIRRAE2H 3,000 3,000 0
201 B2 HH| 3,000 3,000 0
01 AR 2t2| bl 3,000 3,000 0
OXNSACSESHAS MM =SS A 3,000
ANSAESSHAIE 2SI Y| 10,720 9,220 1,500
202 O4d| 5,720 6,720 A 1,000
01 =2WAbI 5,720 6,720 A 1,000
OXNSAESESEAEFE Y 5,720
203 YRFEH| 5,000 2,500 2,500
03 AMF=XAIFZAH| 5,000 2,500 2,500
OXNSACSSHMEFA 5,000
NEAESEHAIY 11,955,000 10,550,000 1,405,000
g 8,850,000
== 3,105,000
403 XXM SK201H 11,955,000 10,550,000 1,405,000
=) 8,850,000
= 3,105,000
01 XXSHMA=2EX 11,955,000 10,550,000 1,405,000
OXNESAESsSHAIS 11,955,000
e 8,850,000
== 3,105,000
HLESXX 2R 2ALE =& 37,196,720 37,774,820 A578,100
g 37,167,000
& 29,720
HEEXX PRI & A3 24,000 24,100 A 100
201 B2 IH| 15,000 17,000 A2,000
02 2224t 2,000 2,000 0
ORI E2EH0IXN&E R X 2,000
03 EAI2HEHI 13,000 15,000 A 2,000
OO TR X &4 3HAIDILEIH = 13,000
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R ENLER (FELXANL /N HLTAI)
=X K 2K AL EZ

_ _ HE T
SN -EHH . (B) - MPAY - BE2 0 Ak o4 il b o HRz2
301 utEa=s 4,000 5,000 A 1,000
10 BAIAHIENS 4,000 5,000 A 1,000
DRI A2 S SHHOILHE S XA 2 4 4,000
303 TA3 5,000 2,100 2,900
01 Z4&= 5,000 2,100 2,900
OX28HE QNRILLI VYT
Al &t 5,000
HEEMUX 2K A 2E 3| 5,720 9,720 A4,000
202 Oidl 5,720 6,720 A 1,000
01 =LHAHI 5,720 6,720 A 1,000
ER TS P N EE LT 5,720
HE=AX X3 AL 37,167,000 37,741,000 A574,000
s 37,167,000
403 TXEMSA201E 37,167,000 37,741,000 A574,000
s 37,167,000
01 XXSHHIA2EX 37,167,000 37,741,000 A574,000
OMNE=EX 2R A AS 37,167,000
[ 37,167,000
SoHAHAEZ XM AL = 45,720 228,720 A 183,000
SoHHHEZ XN SIS ALY 40,000 220,000 A 180,000
201 LEHRHH| 40,000 20,000 20,000
01 AtR2teld 40,000 20,000 20,000
DSdASINNLSA=HYANE R
AXdS 40,000
SHAHEZXNGMEAMS2EZHI 5,720 8,720 3,000
202 O4Hl 5,720 6,720 A 1,000
01 =LHAHI 5,720 6,720 A 1,000
OSHA RS YR S HL AL ET 01 5,720
SOHAALNHSEHHFA 512,440 0 512,440
= 500,000
= 12,440
SO AL B 500,000 0 500,000
= 500,000
207 SAOHEH| 500,000 0 500,000




od
’J
oF
oJ

o o (el o] o o o o o o o | o o o o o o o o o |o o o | o
o [ [ AN | AN o o o | O o o o o o O o o | O
A0 g oo | ol I g|8|8|s © SIEEIEIE <l b
Ko 3 D 1 8|IKRIK| &K < | <[«
Il <] <<
E
o
o ele|e ele|ele ele|ele - 181888 21818 21818
—~lelale|a 12 |S oo
— N~ o o |lo o o |lo N~ w0 | w0
LH 3" L|=|8]|e]8 =1 =R
< At I B R
pak=3

o 1o o o (@) o o (@) o o o o o o o o | o o o o o o o o o o o o |o o o o | o

2|18 8 S|3I[I3 I [RIN|IRIR R [8|8|8|8 8 &8 & |[=|8|8]|38|8 & [8|3|8 & |8|8|®

g8 g g|¥|¥|¥ o |e|e|e|e » 88|88 & ¢ @ |=|2|g|g8|8 g |8|8|e 8 |V

0 |0 Ye) Yo} - (@] (ee] O | o [e0) — — | —

3 N
<
=
) i
< 3
x
W o
or ~ oK =
X0 I fo | ar S
BJ oJ i} = o
. z w5 S
W al | E S
o 3 = il |5 S
- 00 = =) i x |2
I+ al R s z w5
= <k ) K- Rl [ R I A0 __ui =)
. wl 0 & = K| kE | 3D A0 0 | - 3l ) )
= = 30 = R0 8 | @ | =< 0 oL i =< & o |3
= ioD oH il 30 < | x| RO W R R 5l K Tk |
) Ko & Ko | R oM W= i REC[KE | ke[ @0 | 22| KO Il R |
* | = Rl O Rl KE| @D B |8 = Rl S o - R S A vl I R s
A il o |en| = I I = I 5 oK [ ||| m [@m|2|x 0 &

B T Ko z B || T R (R|R[gE @ 80w | ~|RK|S|R S R|E|R WK 5
= |R|w o R[_|8 o @& (2 B [rju|Lm = o = [Fkfa|2 0 R jor|=f0 2 (a3
= A L Bl 2|3 ® | B[ | (3T W |ur | @50 w0 s A BRI &= |lwm|2r & || 2|3
RO 8 o oW 8| R o Yl o S (wlwm|sr | Fx W |aw|F|lrx W |[a|S|m
sl Y Iyl U |R|R |yl Hjeiwf - O U RETIRof U |=<|g|l_ H|E|la|-
T L lo 5|8 |o Rl |o WS |&|o S m._m K| |o =| 2 |o T|&|o
oF 4o | < S| o= | U I U

J ~ | U
=}




od
’J
oF
oJ

o o o o o o O o | o o o (@] o o |o o o o o
o o o o o [«] (@) [«] o o o o [«] (@) [«] o o o
S|le|S|S Sl e |S S |S S|e SEESHIS] S S S S
A0 glglglg el b ¥ 213 ol el b i = 3 5
Ko | ®|®|® < 1< <1< < <4 I« Al le¥l —
< <
E
-
olol|lolo ol o |lo o o ololol|l olo ol o lo o o o o
L|18|38|8 o ©|% 8|8 S|S|8|3|38 133 S 3 S S
glg|glg @ ks gl|ele|e 2| e |s 2 8 2 B
C._w_\ < < < | < 2 n/_y [ee] —
<l - =
pak=
(@) o o o (@) (@) [} (e} o (=) o (@) (@) (@) (e} o o (@) (@) (@] (@] o (@) o o o o o o o o o o
g |8|g2|E8|18 8 |§|8|8 8 |88 8 |E|€|8|8 B 8 |F|FF S |8 & 8|8 €E &g &8 8|8
- |1g(g8lg8lg g |©e| |- — |[wle v |Q|y|le|lLe|le v |d|ldldy o [ 8 8|8 8 8|18 8 8|¥
NN |8 & S ® B|S ® B[S B ©A
z | =] =|l= = - -~ —
<
=
w W 1T 1T
2
3
x
o ®
30 8 =]
[=Y] =] )
. S >
S KF
= —~
o < o | o
N 0|
Ik w5
= 5 T | o
: 7 = 5 a | =
~ Rl Rl 5 R 0 o MW
i ot K kIR 80 30 o
1o} - 3l Kk 3D 00 0H LI = 30
% < < IS G i U e z 01
=l Ll 0 3 X o i T ]
I T K RlOK oF 0 T = |Z T Ed
: _lm5 ™ K- o o | _ |3 [ | 7 <
Rl = w = Mo Mo <0 3l w 5 0w |3 < 3
RO R o< =z A i = o | o 3 =
- - | O . U = ol O |3 = 5
T <= < |lo S w W |o 0 E=] <
oY oY ul o] wr

o

& A




AN ZEIHE D

B FECUWRAL(YNTIHT/LBHT)
Chol: S AGIKILAME X2 (Er9): &2
_ _ _ Muo
SH-EH . S2(30) - MRAY - BES Ofl & 04 Sl e HRE2
201 ZEr=3H] s 112,500
& 112,500
01 Atf2teld 200,000 135,000 65,000
Oet=ZHl 175,000
OB UG A(CRE)IEHES NS YRS 30,000
s 15,000
= 15,000
OBUTAERIEE(EL2)HE 40,000
s 20,000
= 20,000
OSMHIXLIAMEH2Y =S| 20,000
s 10,000
= 10,000
OBIXI LI A HIE{ & 0| XI 4 G 0| £ 10,000
2 5,000
= 5,000
OZg Mgt a2t s 70,000
P 35,000
= 35,000
ONGHUHRESAAH R B2 5,000
P 2,500
< 2,500
mE-Pa=! 15,000
OXASH UL ZLANES2E4Y 15,000
2 7,500
= 7,500
== 10,000
OXNGEEAHIXNLIAME2EZ 2| 10,000
s 5,000
= 5,000
02 223244l 10,000 8,000 2,000
CAIE EHI R X d] 10,000
OAMREIIDIK XL 10,000
s 5,000
= 5,000
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M FRCYU WAL (YLD /L)
Chol: S AGIKILAME X2 (Er9): & 2
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 0 Ak o4 Sl ko HRE2

03 A= 15,000 15,000 0
OZ=CEeISHSUHEHA2SY) 15,000
2 7,500
< 7,500

202 O4Hl 60,000 15,000 45,000
s 30,000
= 30,000

01 SLHAHHI 30,000 15,000 15,000
DX & AIHIXILIAHE 22 2 7 01 30,000
P 15,000
= 15,000

03 220l 30,000 0 30,000
O &S ME Al H = 30,000
2 15,000
= 15,000

207 SAOHEH| 180,000 250,000 A70,000
s 90,000
= 90,000

01 A1E9dl 180,000 200,000 A20,000
AT Ol LA K| 224 AE{ O 2 R 2Ot S o 100,000
P 50,000
< 50,000
DsMY S AH L HYOIBY 80,000
s 40,000
= 40,000

301 LptEazg 40,000 25,000 15,000
2 20,000
= 20,000

07 elzrerzelof| 30,000 0 30,000

X 2 & A X LA HIE{ I & 29 25 2l 6 &

SANAE 30,000
Py 15,000
< 15,000

10 SAAHI2AE 10,000 25,000 15,000
OS3I 208X EAAH 24 10,000
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M FRCYU WAL (YLD /L)
Chol: S AGIKILAME X2 (eH9l: 22
_ _ _ Muo
SH-EH . S2(30) - MRAY - BES 0f Ao Sl ko HRE2
- 20,000
= 20,000
405 KHeHH SHI 10,000 2,000 8,000
s 5,000
= 5,000
01 L ESHSHI 10,000 2,000 8,000
Dzet=ADIS Y 10,000
s 5,000
= 5,000
MRS A AL (REML D) OIEH/IIEH) 78,800 47,300 31,500
Jl2&Hl 78,800 47,300 31,500
Jl=2&H| 78,800 47,300 31,500
201 2BH2ZH] 74,200 39,700 34,500
01 AtS2cldl 64,200 34,700 29,500
mEIETES- 11 53,200
ORM2gUBLSY) 53,200
mEET] 11,000
02 =224l 10,000 5,000 5,000
EYPEETIES 10,000
202 OdHl 4,600 4,300 300
01 =LUWAbl 4,600 4,300 300
XS RE L RET0lb| 4,600




